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K Series and Sequences Review

~_ - = Answer Ke%

1a. [2 marks] J

In an arithmetic sequence, the first term is 2 and the second term is 9.

——

¢ Find the common difference. U,=2, W= g

1b. [2 marks]

Find the eighth term. Ua = 2 + 3(7) =23

1c. [2 marks]

Find the sum of the first eight terms of the sequence.

Sﬁ’: % (2 +33) = 100

2a. [3 marks]

— 1 -1
In a geometric series, U =35 andu 3.
. 3
Find the value of T". Uy = w, f
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2b. [4 marks]

Find the smallest value of n for which Sp > 40

Sn._..t_‘._"_(_l:;i?.: %1("5> ~ 8/
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30




3. [6 marks]

nN=3
The sum of th@ofa geometric sequence is 62.755, and the sum of the infinite sequence is 440,
Find the common ratio. U‘TPI—P r3> H”‘*—“«-ﬁ_ﬁx S ’ - U, 0
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An arithmetic sequence, %1, U2, U3 - - -y has d = 11 anq u27 = 263

4a. [2 marks]

Find Y1, Up = W, +d (n-1)
20,3= u.+u(27*l>
M3 =U, + L Ble
W, =3

4b. [4 marks]

(i) Given that Yn = 916 find the value of n.
W=+ d (a-t)
S5ie= -23 % win-1)
5l ~23 +Wn-0
5= ~34 +ua
550 = \\n
50 =n

(i) For this value of n, find Sn |

w, + L,

. 5I:.C__-23+51lp) = 12325
650 - O 12800 Cor 33%



5a. [5 marks]

The first two terms of a geometric sequence Yn are U1 = 4anque = 4.2,
8] Find the common ratio.
u T _ "{ :2 = [6)
(=, -~ H k.05

(i)  Hence or otherwise, find 45, Wna= W

= ¢ (V. 05) ~ H.30

6a. [1 mark]

7
>
Expand™=%  as the sum of four terms.

;
9% ' %+ 2

=4

6b. [6 marks]
30 ' (I- Z\
> Sa = ”"G-_’

(i) Find the value of =4 . _ o - 2 3% 2 % = neaf

30 r=q =1 Ttz
201-3%) 30U G ——
2= 57 =yl 5
r=| - %;‘”za\ﬂwwqu =4 es3e s
3 - a(l—;a>.__ | =y
é@r" -2

=\
o0
2.2
(ii) Explain why ™=4  cannot be evaluated.

Since \r\*>\ _\_\\e eies waill continoe '\‘D S{*ouo (CLVinQ)



7a. [1 mark]

10
Consider the expansion of (= + 3) .

Write down the number of terms in this expansion.

7b. [4 marks]

x® x' x? x3
v 7
($)x3(3)

(‘30>X3(3>7= 1206 x2(2187) = QLAHYB X

Find the term containing -’173.

3

12
(3z—2)2 (2> r
8. In the expansion of , the term i can be expressed as

( ‘57'> (3x)5(-9>7

) x (3z)P x (—z)q.

8a. [3 marks]

Write down the value of P, of 9and of T.

=3
=7
9

8c. [2 marks]

Find the coefficient of the term in z° ;

(\52>(%><)5 (-2)'= (792) (243)%5(-159)
= —-‘ 3] S
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